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@ 15x(28+7) @ 27+9x15 ® 96+ (8x2)
@ 12x8+4 @15><(12+2)

B

D 15x (28 +7) =15%x4 =60
@27+9x15=3x15=45
@96+ (8%x2)=96+16=6
@12x8+4=96+4=24
®15x (12+2) =15%6 = 90




@ 18x3+9 @ 64+ (4x2) ® 3x(36+9)
@ 60+ (3x5) ()64 +8x2
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D18x3+9=54+9=6

@64+ (4x2)=64+-8=38
@3x(36+9)=3x4=12

@60+ (3x5)=60+15=4
®64-8x2=8x2=16
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@ 48+-2x%6 @ 48x6=+2 @ 6x48 =2
@48+(2><6) ® 48 % (6+2)

~&B

D48 +2x6=24%x6=144
@ 48%x6+2=288+2 =144
@ 6x4+2=288+2=144
@48+ (2%x6)=48+12=4
® 48 x (6+2) =48 x 3 = 144
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@® (10+2+3)-4+5 @ 10+ (243)-4+5
® (10+2)+3-4+5 @10+2+3—(4+5)

® 10+ (2+3-4)+5

B

@ (10+2+3)-4+5=16
@10+ (2+3)-4+5=16
®(104+2)+3-4+5=16
@®10+2+3-(4+5)=15-9=6
®10+(2+3-4)+5=16
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@ 16% cm @ 16%_1(3111 ® 187 em
@ 1857 em ® 185 em
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9 7 9 7 >
_(5+3+5+3)+<ﬁ+ﬁ+ﬂ+1g
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